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1 Introduction
In this contribution, we provide simulation results for 10MHz LTE -> 10MHz LTE UL scenario as defined in [1]. 
2 Simulation assumptions
The ACLR model is shown in Table 1 as in [2].
Table 1. ACLR model for 10MHz E-UTRA -> 10MHz E-UTRA, 8 RBs per UE
	Location of aggressor 8RBs (bandwidth = 8*375 kHz) 
	Adjacent to edge of victim RBs

(bandwidth = 8* 375kHz)
	at least 8 RBs away from edge of victim RBs

	ACLR dBc/8*375 kHz
	30 + X
	43+X

	X serves as the step size for simulations, X = -5, 0, 5, 10 dB


For each UE, the following power control is used:
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Where Pmax = 24dbm, Rmin = -54dB, Gamma = 0.8, PLx-ile = 134 dB (including antenna gain, corresponding to 99.35% pathloss, In other words, 0.65% users will transmit at Pmax) as in [3]. PL is the pathloss for the UE and Pt is the transmitted power for this UE. 
Correlated lognormal shadowing is implemented with 10dB standard deviation and the correlation between sites is 0.5. 

Two systems are deployed with worst case shift between sites. 
3 Simulation results

The relative throughput loss v.s ACLR curves for all UEs and for 5-percentile UEs are shown in Figure 1 and Figure 2, respectively. In both figures, the ACLR values are normalized to 10MHz channel bandwidth. 
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Figure 1. Relative through loss v.s ACLR for 10MHz LTE -> 10MHz LTE UL scenario
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Figure 2. Relative throughput loss v.s. ACIR for 5 percentile UEs

From Figure 1, for 5% relative throughput loss, the corresponding ACLR value is 27.5dB.  The UE power distribution and throughput distribution for case two are also plotted in Figure 3 and Figure 4, respectively. 
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Figure 3. UE power distribution with power control
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Figure 4. UE throughput

4 Conclusion

The results show that there is no problem for the co-existence of 10MHz LTE with another 10MHz LTE system in UL
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